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MARCH 2OI9
Time : 2Yz Houts

Cool-off time: 15 Minutes

Part - lll
SOCIOLOGY

Maxirnurn: 80 Scores

General Inslructions to Condidntes :

o There is a 'Cool-offtime' of, 15 rninutes in addition to tho r,rriting tirne.

o Use the 'Cool-off time' to get familiar with questions and to plan your answers.

o Read questions carefully befole answering.

o Read the instructions caretirlly.

o Calculations, figures and graphs should be shown in the ills\\or shcct itselt.

. Malayalam version of thc questions is also provided.

o Give equations wherever necessary"

o Electronic devices except non-programmable calculators are not allowed

Examination Hall.
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Answer all questions from r to 5. Each carries I score.

l. Identify a peasant movement from the tollowing :

(a) Adi Dharma Movement

(b) Tebhaga Movement

(c) Chipko Movement

(d) SNDP Movement

2' Point out an argument that represent the integrationist view regarding tribes :

(a) Tribes need special protection from money ienders.

(b) Tribals should be kept away from mainstream society.

(c) Tribals are backward Hindus.

(d) Tribals should live in secluded places.

3. Say'true'or'false, :

'With the growth of television and intemet the circulation of print media declined.,

4. complete the chan showing the three dimensions of untouch ability :

Exclusion Exploitation

5. Fill the blank area with the most appropriate item from the bracket.

(Ecological movement, Peasant movement, Social movement, Counter movement)

'Dharma Sabha is an example of

SY 38

(5x1=5)

,

Dimensions of Untouchability
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l.

I ogrorc8 5 orooo.rSgg 
"otJc corcr:5onodoolo p{unDooaelold,. I cqpct6 o_floro.

(5x1=5)
(oc oe <orrril o1 eer3cmot ojl o8 crfl cm" ao3 o,6"sdo (oJ ouo c o)o 66)6rB conDJ@, :

(a) rogr:1 cudm (oJoDoc(Do

(b) o(o6Dlco[crJoUoco)o

(c) 
"-il"'-r-cac 

(oJfiUoc0)o

(d) SNDP (oJoDocfi)o

G{/)c(to ojlec<nonog cruoclxmlraolcm pa[or,ocn e,ceilgcdlocn g.,-roilcrll<r-lccno

o4J gJCm (ol OgcoJ cD ot3ereleercerril66,]e :

(a) eu)c(tdl ojleccll6tr04€o" oJ6IDo orso o6,cs]€o3(moLo1o8 crJlcm- (.lc<olJ6
OUo (0 6rY 6lDo <orgol UOJO C 6rn1

c ulc (tol s cD6B o g a ]ol J<,t,l c @ ao, o8 crJl cm" o c 91 crfl 16 olorm".
c(,c((o BCDo) 

"jl ccmceel .rril cngoergcern".

ealc (ro ojl rec u>6BoA eigog S mm er on gil oE dloJl oeromo.

3. <roo1lcolc ocolcgc ogcm" oJoao3@,:

'oseiloJl",sloaSor]" po!6ocng1ooflor3o org64corcos oro4dl oc<rlJooBgJos (orarc@o

6Jo5YOto].'

4. orom-r"o-r5voJ@aolos o Jcm"toeloRoa crul"JlcdoJ(m 
"lc<65ia36<orollaoleer3a, :

on m-1""-r 
5<ro J(o@ Jos o et onod

adlotcaooE o.JJoSd6IDo

5. lerrlceogloE mgiloiloleerScmotolloE 
"6i8otl" Gnmlc0ocsrJocooG.i p",tcolco14[ oil5

eccno o:]o1g|60]6.

(ololruo1<ofl (oJfiDOCCDo, 6i6ou& (oJcDocff)o, cDcolooJ (oJfiuoc(Do, c.rl(o),l (oJoDocoo)

(b)

(c)

(d)
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6.

7.

Answer a,ny 4 questions from 6 to 10 in two or three sentences each. Each carries
2scores. (4x2=g)

Write a brief note about the significance of the 73'd Amendment to India's Constitution.

Observe the table showing the percentage-wise distribution of the age structure of
India's population since 1971.

Year
Age Structure

0 - 14 years 15 - 59 years 60* years

t97t

1981

t99t

2001

20rt

42

40

38

34

29

53

54

56

59

63

5

6

7

7

8

Write down two derivations regarding the demographic dividend of India's population.

8. Point out any two impacts of globalization on Indian television.

9. "There is a vital difference between the empire building of pre-capitalist times and that
of the capitalist times." Substantiate.

10. Write down any two social impacts of circulation of labour.

Answer any 4 questions from 11 to 15 in four or five sentences each. Each carries
3scores. (4x3=12)

11. Explain 'Commodification' with the support of examples.

12. M.N. Srinivas stated that

sought to be westemized'
Substantiate your answer.

SY 38

'while lower castes sought to be sanskritized, upper castes

. Is this opinion true for all categories of people in India ?

4
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6 o3<o.ro8 l0 ororoorlgP GolcBJ6ug1CI8 o61o<omilelp 4 
"O-6m(otutlci 

qB6IIsc alc(mc

orce5ongiloS gcomroooelola,. 2 cqpc<6 o-lltoro' (4 x 2 = 8)

6DCrO_\Oa e@fl.Dqels0taolos 73-coooro creaul<o'flaollos c.,-rm)aroflooleerpl4 6JOl

-o
o"-r o3op1 g[ (o)9coc66)]e.

(oo)occD a,emeefloE lg7l olo)ell@ Qoo)5OA tscnoDoOlJaolos (olcco clelsG)

oD]"Jl C €ol* .$.9 9.9 ro]*

oDoo\oa BmfflJoolJaolos BcnfiDoolJc
-o
Grd(r)laccD6l3o6 "6U1<O3a.

eLcreoJl"rflool3acoil enLru-loc$S c06rE

i. pcm5od oseJloil.,saod (6ooGItD- clgcocgolo8oooemoro"floo! t'63o<oleilel3o oere"

(oloJco€.lc(Dono6 lpndl€oc6rd65,)]6'

). ..aroetcgloro.l]6g ecer.erSo|oflOel(o)p a3oracgfloro ecelo€l5o|oilOelQoo

.,uc.,ocsJ.,., oilamtcn m>dl.umonod rormloE o,c(oletcao JleL oL5<o)lcou@Rg]5rB-'"

ruod<o'rn1eo3a.

10. o<ocdlOE oloiaro6lDGnDloo! "Oo<oeilEllo 
@6IB-cDcolooJ ('olo)lcoelcG)6uBoa (r{)9}oD}6''

11 oyuroE 15 otercorlgp co-rcO5OngiloS o6ei<oroo,lello 4 oo6#Boloil(ri (nCcep (troc6l1'uc

orce5ongiloE groruroooelolo," 3 ccrgctd o-[lroo' @ x3 = 12\

gocooo6mo.Bglos outrocaoc6nDCos 'r-todololgo6lDb' o6)mDCo6lDCm"OJlgorJla',oleo3a'

'coca-cm scrola,od m;oml-e5<oogoemOro'flcri oJlc<poloccorcgcod 9ox6cm scoflaod

orccolcoJol*l@6rDoC6rD- O(o)OO5nm)S}6Io)O(O'(rD- of)o. "6O6. EilCrflolcmloa

1"_ro3cojlao3cml. qo (Glo8colcD pcro'l5oiloa "o8Jc ojlecoo B(r)6BGpaa)]o

cruo ou mr:1 gi ca o1 otc c emc ? crfl on glos I cnD (o orofl cri m5c oJl a,o emo o) B 16''
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11.

12.

(olCAO (rels(I)

0 -14 orol$
5

6

7

7

8

53

54

56

59

63

42

40

38

34

29

l97l
1981

t99l
2001

20ll
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13. Differentiate between'homogenisation' and'glocalization'of culture with examples.

14. 'Govemment is trying to sell its shares in public sector companies.'

(a) What is the rnost appropriate term to refer this process ?

(b) Point out its implications for the workers.

15. It can be seen that 'most states have been generally been suspicious of cultural diversity

and have tried to reduce or eliminate it'. What vvould be the reason ?

Answer any 3 questions from 16 to 19 in a

4 scores.

paragraph each. Each carries

(3 x 4= 12)

16. It is argued that 'the initial stage of learning sociology is to unlearn the prior knowledge

about society', Analyse the reasons behind this argument.

17. (a) Pick out a civil society from the given list :

(1) Doordarshan

(2) Asianet

(3) All India Radio

(4) MultinationalCompany

(b) What criteria did you use to distinguish the civil society from others ?

(1)

18. 'Industrialization and urbanization processes in India did not follow the way it took

place in the west.' Substantiate with examples.

19. Analyse the impact of globalization on Indian radio.

(3)

6SY 38For Free Carrier Counselling contact :+91 8891314091
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13. PBcooo6IDoRgJos mJoocaoconDcos or",ocgcooloioo!'cruscc6flQe.roJ$l@6yDoJlo',

' cgc eoooet GoDnM (n]o' roool oE ol J(o.)J(nJod slonD]6.

14. 'ooton8oooS o"-tc<ol;coorer fiuocorff)oRglos <oro<oiloop oc.'ool oilgcod @o1ql
oe,cendloloer](m;.'

(a) pe 1.u1a,1cooor ojlc<,o"s4gflaer3cmoflcri"63got3" Gn(r)]caocsJocao oJBo a1fl@c6rD-?

(b) otocdlercgfleop oDo6Dlmrrq p,oloo! c"-r<o'r5co€lc(oo l;enelaercorfloolo.

15. 're3olrecoo oc(rlonpJo crucooflc<o1e oootoil<o5ooro oDocr0oo) o5.,gi1corcos

olla,tileer3eaolo olcoolco'la oooroilco5oo'ro oroacor<rjl orlogcc<nc pgctocooccff)c
qgol aer3cm (OcQolo' €,c 6rDc mca,]o. og cnDcaofl o1 oog" ptofl mlgg 6,c@ 6rDo ?

16 a3<oo8 19 olooorSpg colcn5arngilo8 o6ercre*,1erJo 3 o4qgoru,lfii ao3 o-remllocoloS
gco?Dooaelol6,.4ccr;c6o-lltur". (3x4=l})

16. 6m)o]oo@c(og .uocnorofloo! go-rmD o€.t!o cruolooo(onDoolol4]gg oScmoloi

P$c{dtcdo]€> .,6;rm<ocoemcm"' otcoleoogs;Cml. pnc otcnronrflcri "Jcrriletpg
&c@6rD6Rod ojl ooas cDo ooJ$Jar.

17. (a) (ocoe mgloiloleoScmotollo8 crflcm-oog orlc<o m)o3ooooro 6o6reronD]6, : (l)
(l) a3oodcroo8

(2) 
"6"u5omt'

(3) <oqcl0 @m)J coor.icorc

(4) 6Dool<oc(cg a,mtcrjl

(b) olo@ oDo]oooolo) ag3ggoraorlo8 crJlcm- cordroflo1go1olccrd crfleon<,d g,'-rcotco14

ocff)B6rr\D66Ro6 
"61OmrgCoC6rD- ? (3)

18. 'poo5ojleL]6lrecao olJolm)coool*l@6rD-mooo-lo8oeroem 1.,-rgeloraoa (aJcuquc(o.)J

o c or5eroil eL fd gerec oo <o-.' poc cro o em cn-lorfl coo ml o r0 <orn1 eer3a.

19. PooJC6 coollcop <0o@Gl?D"Gl.gculcgoroEeo@GrDo oolergo'roilo fl)co.flffio oJlcroa,etcno

oeJq]o.
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Answer any 3 questions from 20 to 23 in one page each. Each carries 5 scores.

(3x5=15)
percentage wise distribution of Indian workers by their status ofTable shows the

employment:

(a)

(b)

What does the table say about the employrnent

sectors ?

What is the sociological significance of the

unorganized sectors ?

in organized and unorganized

data for the workers in the

(2)

(3)

(a)

(b)

(a)

Arrange the States in terms of child sex ratio :

(Maharashtra, Punjab, Tamil Nadu, Kerala)

State the reasons behind declining child sex ratio in India.

Arrange the given items in appropriate columns :

(Sanskritisation, Industrialisation, Urbanisation, Modenrisation)

Structural Change Cultural Change

(b) Point out any three criticisms levelled against Sanskritisation.

Arrange columns 'B' and'C' so as to match with column'A' :

(2)

(3)

(2)

(3)

Status of Employment Runal Urban

Self employed

Regular employment

Casual employment

54.1

7.3

38.5

4t.l

41.4

t7.5

Total 10s 100

A B C

Alfred Gel

Nakarattar

Banjaras

Max Weber

Marwaris

Tribal group

Colonial period

Status symbol

Weekly market

Indigenous trading network

Lifestyle

Trade in salt

Ne;v rnerchant community

Banking system

Dorai

SY 38
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20 a3orc8 23 orooco3g co-rcn5ongfrog o6emeirer3o 3 .'ogBoro.roi occoc
goroooaelola,. 5 ccpcrd o.iloto.
poo5oiloa o<o.rcdlacgloog Graor<o3os o<ondleilen!
s0 ., 0 c .,do ernoerl 0g o, o1 g }gE or $ eor c em- m g|l oir o1 eo]cm oi :

c.riee'loa

(3x5=15)
20.

c6norouoaocn;ruol4[

oo)cgteiloof, onorrnro (AC@o O)U)Oo
oUJQDo oopdlaf
cruoloo oorcdloE

rocgceJla o<orcdloE

54.1

7.3

38.6

4t.t
41.4

17.5
(roo6

a
100 100

fiiooelSl <D co ol el ojl oer fl.rftaa<rrnr-n^@
po ot$e oJoaormootcrocem" ?

(b) Grdctloo€ldl@ coareraoJlos orondlercgileog ouo6nrfi\D'l d ec B.riDorlglos
m)a]oo@c(Q]f oucocD{o5oa crul" ?

2l' (a) e3Sileg3os psolloE' cc6fl-or3o3"u Gn(I)]orco)oro..rloo! rondlmmccnoIofloE
fiDoouoco)oBog l@,dlo,ol oer3o :

(ooococlng, .'reiolcen t] oolv"mcs] ce@po)
(b) pcro5ollo8 odl@pe.,Utdf'f|soilos lcpfl-orgo3"sac(r)JoJc(Do d,Jooino] oro3cm<o1cng

"jl crrfl eLggp @,c<o5rD@Ro6 1oopcojl6o36.

(a)

(2)

(3)

Q)

22. (a) cngl'loiloleolcmoroa, crool.rcor cocgon$o810droo1dolo : (2)

o, {oe(I)}Cril6orSloemo)
. -ErD\ t rirol(ot4c(g acooo

(b) mrcnio5

o'no6 .o.r ;er€l ooc erril eo3e.

(3)

(3)

, cocgonod lodlooloetSe, :
.6)

-

6IU! m,
org<if loooo"ocnoa
CnerO<OfOCd

entOO-tCOArOd

aca"au"ootenL6

ocr6oLcdle,o0

GU)CC(O.) OJISCU)o

oo,c c gc erril otaf arce.r "er5o

".tOoilJl.,rno
orgvL rool
rorcgcrol ol olJcoJc@ (ogoolet

dloilomornen-
gg[or5c.,-rco"

",r3ro1oo oljcolc@ oDolBcaoo

oat c ejl 
"<ri 

m-l (cr)J Bc oo)o

oBcoo(o
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Answer an7, 2 questions from 24 to 26 in I 7l Srages each, E:rch carries 6 scores.

24. List out the major powers and responsibilities of panchayats.

Panchayati Raj institutions in your area have been successful in
and responsibilities.

(2x6=12)

Examine how far the

r executin_e its powers

25' Examine the impact of -elobalization on labour with the help of a1example.

26' Point out any thee conlmonly cited features of traditional caste system and examine
how far these features are significant in the contemporary Inclian society.

Answer any 2 questions from 27 to 29 in two pages each. Each carries g scores.

27.

28.

critically evaluate the social impacts of land reforms in the colonial and
India.

(2x8=16)

independent

29.

(a) Point out the major problems faced by the Adivasis in India and analvse rheir
struggles to address these issues. (5)

(b) List out the major state and non-state initiatives addressing the discriminations
faced by the Adivasis. (3)

Brietly explain the major features of social movements and examine how far these
features are present in the Chipko N{ovement.

SY 38 l0
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24 a3orci 26 oLorocorsgg c"-tcoSongilo8 .,6eioto,1et1o 2 r,O6morutlcri l% cnte'- ojl<oro

ponDooael<olla,. 6 cogc6 ofl roro. (2x6=12\
ol6t3rucaoolo)]6rg]os LoJ(I)ccD rsrdcDlaco5o3gJo Qoro@otcol<o.rong3" .,_r$a,oHslolol6,.
crilongSos (oJGBsooolo ol6Iolc@)oro"ocdmrnc",-tcnonc6 Graolco3os onculacoong3o
gororootcr:loJor3plo oo(cocot'ocgo <rilocotglcm]osrE(m".,_rolccroc<ol€oJe.

otolcdleiloE GDe@cPorgoomomiloo! mrtcullcno nco] gecoo@6rDoronoo! ouoocao)-
G6IOC OS .,-r Ol CCrOC COI 66,]6.

oj@mj(0c(/)(D gcroJl o]JoJoucalJos 
"6orolo,1er3" a;cm" mtojlcs?.,sdcoaoA ,:3sne1-

oelcen14[m-loa,cpl]4, pooJod m-rogoooririloE <orooroor3os 1.,-rmrerol .r-rolcsoc11r@o]6o.

27 alao6 29 o-rotooolgP colcoJoBgiloS ogo<oeilerlo 2 ogggooflcri oerre-c.r-rdoll<ou
gcoo@oael<ol3e,. 8 copctd o-ll<or".

oeccAcenflaoroE pool5oilet3o oD1ro^r(cnD pool5oilet;"
(orojco€lccneonua ojl o6cocncouacaol oL1 ercojlo;orcr]a.

(a) pour5otloa <argeiotcmtl oileccD@'Boa ra'rorelo3oJloolao3cm [dcDcc) 6",rr6on<,6
lJene1aocorfl4[ P,lD largoncd o-rolooolaer3cmrolcnccor;gg <cTgr:1otcmr1

colcocs@Rod oilsoo,ptoo ooJgJa (5)
(b) <oqnlolct-n5lo'.r? ororeio3oJlooloo3cm ojlcol^ rcnonod .,;ol.roorloo3cm<oilmccor3gg

cgpglocrflcoJ" egBfeo)o 
"0eodm-flopJosaoJo msordood o-Lgoogsr.ro,Jo. (3)

mJcolooJ (olcunccn@Rg]os m-roJlc<a"soreod 
"lgo3ao1 ofloto1gi Jl.r_t"cac

i"lmrnccnoorlo8 pc mro-flcs?.,sirora,<.6 og)trocroy{Dcpo go6c46crrfl53o6ne(m-
.,iolegoc<rr6oJ6.

24.

25.

26.

27.
(2x8=16)

eg,rol,goem<im'il oo! crucolooJ

29.
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